1 REFLABABRELROEREERN (T11—-1)
(4550 5 4R FE)
T oo s
N — A R
g | amaat| mt | osemi [ TX2T| mem [ REED ] e
/J\u+ m*ﬂ;& ﬁb*ﬂ;&
IX IN L
P w Iz} 165 110 88 22 55 55 10 -
= ES P I3} 392 269 218 51 123 123 21 9
. u
JY) = % 25 12 7 5 13 13 4 5
* R 5 82 59 49 10 23 23 2 -
el R T v - R B 153 28 15 13 125 125 5 17
] .
| S ET AR 218 30 19 11 188 188 15 34
e ESILED 3 - - - 3 3 - 3
w |
a T 15 - - - - - - - -
FEERFEBRDES
( B A ) 53 12 8 4 41 41 1 13
i i B ) ) ) ) ) ) )
/NI R eS8
Z 0t 46 25 20 5 21 21 8 17
e .
icil 1T % 1 1 1 - - - 1 -
2 1,138 546 425 121 592 592 67 98
? 1S S i} 3 2 1 1 1 1 25 56
15
g |k 5 Kk & - - - - - - - -
5 BOf ok E 31 8 5 3 23 23 - -
£
. 5 B A K E 142 111 88 23 31 31 - -
% | &
it OB 7K I f6 htE 3 - - - - - - - -
=Ju
Bx s 176 121 94 27 55 55 25 56
EA H 731 509 437 72 222 222 - -
| x e % 18 13 10 3 5 5 - -
i B T 13 8 5 3 5 5 - -
D1 fems - seCEERES - - - - - - - -
¥ OE B OE B 36 25 20 5 11 11 - -
1t i
4 — JL 6 4 4 - 2 2 4 2
2 804 559 476 83 245 245 4 2
- 87 - (51 1% K- 5]



2 EEBREREEAVERBEERN (T11—2)

(45Fn 5 4EFE)
CECT S S N
i | omm | osemd | med | BEICR ERIK
B 5
# J& 71 41 8 22 13 15
T . - ! - : - -
K7 14 9 - 5 3 2
®oow R s % 14 9 - 5 3 2
. S _ _ _ _ _ _
= W R 7R 3k 55 35 8 12 10 4
E's ®ooE K o ¥ 7 4 1 2 - 9
o o OM o R e ¥ _ _ _ _ _ _
ool IR e % 3 1 - 2 - 2
B * o 8 8 - - 1 -
fic f (L ] 16 15 - 1 - -
& - * o 6 4 - 2 2 1
(L ] 20 14 1 5 - -
. il i ES _ _ R
A = 3 L 2
®odE ow % 4 4 - - _ -
d ES * _ _
P = g 3 2 3
oo R e ¥ 10 7 9 1 _ _
i & * 11 6 2 3 - -
oo R e ¥ 16 14 9 _ _ _
= f& i) ES 1 1 _ _ _ _
fg =
e & g m LIOnE S 58 36 6 16 8 8
B HH3¥ 20 13 3 4 1 4
e - MR 7e 3 404 232 52 120 35 5
B2k 32 19 - 13 1 1
ARk 2l & * _ _ _ _ _ _
S W R R % _ _ _ _ _ _
e | & ¥ _ - } - - -
[ A ool W e ¥ _ _ _ _ _ _
Hl i = N
/Eji Ju % 1 1 — — _ _
i 785 478 87 220 77 46
i & % : : - - - -
- i A ¥ 1 1 - - , _
: AN
)] — i 45 27 4 14 6 5
iﬂ B g 3% JE 23 10 3 10 - 2
FFIE 4 2 - 2 - -
% % - R W F ; ; - - - -
it 81 48 7 2% 6 7
2o M & 70 38 13 19 6 10
fig 5t E = _ _ _
e f = : 1 1 1
D 7t ES H 58 31 7 20 12 17
hiF 7% Jiti X _ _ _ _ _ _
MR A - T EE A EORE B AR A 1 1 _ _ 1 1
7 130 71 20 39 20 28
& B # 21 10 3 8 - -
K i i %
il & ti 244 157 24 63 - -
WF 7% = _ _ _ _ _ _
O - T EE A ECEIF 28 _ _ _ _ _ _
x IR o 7% = - _ - _ _ _
- 88 - [F1 13 HF . mE]



3 KEDOERRI (T11-3)
(4 FN64E3 A 31 H BiAE)
1S s iE fii % &K & Ok iE t BRCRE K it #E i 5 i 5 5
s 1 = G 1 = G ] = I7N ] = 7S St J 2% & BY 7S HAKE
RAR G | RHERRK o | o | TR on | pr | R Do | e | RTERRK | genon | TR g | RIEIRAK D en [T
‘, N A % N A % A m] % H . A H a2k 45
e e e ¥ '
BT 82, 306 1 89, 400 82, 090 - - - 5 - 76 - 89, 400 82, 166 99.8 - - - 88
EET 18, 165 1 29, 400 18, 148 — - — 3 — - — 29, 400 18, 148 99.9 — — - 23
AP NG 100, 471 2 118, 800 100, 238 — - — 8 — 76 — 118, 800 100, 314 99. 8 — — - 111
B 36, 453 1 35, 209 29, 323 - - - 23 - 50 - 35, 209 29, 373 80. 6 - - - 31
Y=g 36, 453 1 35, 209 29, 323 - - - 23 - 50 - 35, 209 29, 373 80. 6 - - - 31
EINKREE 136, 924 3 154, 009 129, 561 = = = 31 = 126 = 154, 009 129, 687 94.7 = = = 142
7KSE*§§EEI“AD§“'%(F1 1—1) 7K5§35E&$0)*E*§(F1 1—2)
HR/KE
0% 100.0
99.0
97.0
* 0 Te———a—a—g
95.0 ‘M
94.0
93.0
92.0 L L L L
H26 H27 H28 H29 H30 RI(H31) R2 R3 R4 RS
e [F] - e KT E N
- 89 - [F11% ¥FE-R




4 BRILREE (T11—4)

(4 F 5 4E )
X4 H 1= ko I = # ik ik = e BRILE 1 B4 720 ofkifLE (ml) E| = = 53 B
el & moy | AR O moy | AR O & O woy | A
TR A4 200m1 400m1 200m1 400m1 200m1 400m1 200m1 400m1
N
797 743 24, 743 - 25, 486 1, 481 33,210 - 34, 691 372 16, 668 17, 040 199 134 - 136
el
67 75 2, 506 = 2, 581 90 2, 699 = 2, 789 271 | 16,235 | 16,506 120 108 = 108
ARG 55 58 1,936 - 1,994 68 2, 255 - 2,323 250 16, 550 16, 800 117 117 - 117
3D
43 40 1, 332 - 1,372 44 1, 841 - 1, 885 205 17,126 17, 331 110 138 - 137
Fit 12 18 604 - 622 24 414 - 438 417 14, 400 14, 817 133 69 - 70
/it 12 17 570 - 587 22 444 - 466 367 14, 800 15, 167 129 78 - 79
LIRS 12 17 570 - 587 22 444 - 466 367 14, 800 15, 167 129 78 - 79
kDR PN ek ifn 32 250 LR BB AL B 55 0D A
A & DHEFRE (F11—-3) BRI 5B mES(F11—4)
80,000 -
3,000
70,000 - ‘/,7 — — o
60,000 - 2,500
50,000 4 2,000 R =1
40,000 - RSt
1,500
30,000 - mERET
20,000 - 1,000 mE L
10,000 -
500 S
0 [ - g — 1 _
H30 R1 R2 R3 R4 R5 0 [r— .
——ERELL—LRDENEED) —B-ER 200mL 400mL
- 90 - (#1105 Sk - 5]



